Page 1 of 2 BoardDocs® Pro



Agenda Item Details

Sep 08, 2014 - Regular Meeting Meeting

Category 7. Consent Agenda

7.13 Renewal of RFB 10-B04 Epoxy Floors, presented by Vince Windham, Program Subject

Director, and recommended by the Superintendent for approval.

Access Public

Action (Consent) Type

Fiscal Impact Yes

Budgeted Yes

Budget Source General and Capital Funds, various projects

Action

Recommended Motion to approve the five (5) year renewal of RFB 10-B04 Epoxy Floors, based on fixed pricing and to be used on an as needed basis district wide. The vendor is Pro Floors Plus. The contract is effective September 15, 2014 through September 14, 2019. Copies

of the renewal letter and original tabulation are attached.

Public Content

Request approval of the five (5) year renewal of RFB 10-B04 Epoxy Floors, based on fixed pricing and to be used on an as needed basis district wide. The vendor is Pro Floors Plus. The contract is effective September 15, 2014 through September 14, 2019. Copies of the renewal letter and original tabulation are attached.

For additional information, please contact Steve Bolton, Program Director, Maintenance at (850) 689-7159.

RENEWAL OF RFB 10-B04 EPOXY FLOORING.pdf (298 KB)

Administrative Content

Our adopted rules of Parliamentary Procedure, Robert's Rules, provide for a consent agenda listing several items for approval of the Board by a single motion. Documentation concerning these items have been provided to all Board members and the public in advance to assure an extensive and thorough review. Items may be removed from the consent agenda at the request of any board member.

Motion & Voting

Motion to approve the Consent Agenda and all of the Consent Agenda items as reco Superintendent

Motion by Cathy Thigpen, second by Cindy Frakes.

Final Resolution: Motion Carries

Yes: Cindy Frakes, Cathy Thigpen, Melissa Thrush, Rodney Walker

TALOOSA

SCHOOL DISTRICT OF OKALOOSA COUNTY Purchasing Department

SUPERINTENDENT OF SCHOOLS MARY BETH JACKSON

ATTORNEY TO THE BOARD C. JEFFREY McINNIS, ESO.

PGM. DIRECTOR - PURCHASING VINCE WINDHAM, CPPB



BOARD MEMBERS
DEWEY DESTIN
CINDY FRAKES
CATHY THIGPEN
MELISSA THRUSH
RODNEY L. WALKER

August 15, 2014

Pro Floors Plus Attn: Ms. Debra Perkins 3902 Jenks Avenue Lynn Haven, FL 32444

Ms. Perkins:

On September 14, 2009 the School Board of Okaloosa County, Florida approved the award of RFB 10-B04 Epoxy Floors-District Wide. The original award was for the period of September 15, 2009 through September 14, 2012.

Bid terms stated that the School Board has the option, with the consent of the successful vendor, to renew the bid for an additional one-year period. We would like to request that this bid be renewed for the period of five (5) years, September 15, 2014 through September 14, 2019.

Please check one of the responses below indicating your decision regarding this request. Sign and return this letter, along with a completed copy of the enclosed Federal Debarment Certification to my attention, no later than Friday, August 22, 2014. Feel free to fax your response to 850-833-6327, or email it to Becky Perrin at <a href="mailto.certification.certifi

Please fax a current Certificate of Insurance form for your business to the Risk Management Department at 850-833-3195. All contractors must continue to comply with the insurance requirements as provided in the original bid documents. If your Certificate of Insurance is current, or was not a requirement in the original bid documents, please disregard.

Thank you for your consideration. We look forward to doing business with you for another year.

Vince Windham,
Program Director of Purchasing

I agree to renew the bid adhering to original terms and conditions, including pricing for an additional five (5) year period through September 14, 2019.

I decline to renew the bid for an additional five (5) year period.

Signature*

Title

Please print name

Date

1914

*Note: Must be signed by an officer or employee having the authority to bind the company or firm.

ITEM	ITEM DESCRIPTION	EST QTY	UOM	Curti	s R	emodeling		Pro F	loors Plus	М	ike M	oult	on Const.	⊦	lamme	erhe	ad Const
	Items 1 through 12 will be for projects from 0 to 500 Sq. Ft			Unit Co	st T	otal Item Cost	Uni	it Cost	Total Item Cost	Uni	t Cost	Tota	al Item Cost	Un	it Cost	Tota	al Item Cost
	Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer).	500	SqFt	\$ 9.0	0 \$	4,500.00	\$	4.00	\$ 2,000.00	\$	10.00	\$	5,000.00	\$	7.90	\$	3,950.00
	Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer).	500	SqFt	\$ 10.0	0 9	5,000.00	\$	5.00	\$ 2,500.00	\$	10.50	\$	5,250.00	\$	8.90	\$	4,450.00
	Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer).	500	SqFt	\$ 14.0	0 9	7,000.00	\$	15.00	\$ 7,500.00	\$	15.00	\$	7,500.00	\$	9.00	\$	4,500.00
4	Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer).	500	SqFt	\$ 14.0	0 9	7,000.00	\$	15.00	\$ 7,500.00	\$	15.00	\$	7,500.00	\$	9.00	\$	4,500.00
5	Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer).	4000	SqFt	\$ 9.0	0 \$	\$ 36,000.00	\$	10.00	\$ 40,000.00	\$	11.00	\$	44,000.00	\$	7.00	\$	28,000.00
6	Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer).	3000	SqFt	\$ 11.2	0 \$	\$ 33,600.00	\$	12.00	\$ 36,000.00	\$	11.50	\$	34,500.00	\$	8.00	\$	24,000.00
7	Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer). Does not include repair/replacement of damaged wood floor.	500	SqFt	\$ 10.2	0 5	5,100.00	\$	11.00	\$ 5,500.00	\$	10.50	\$	5,250.00	\$	7.00	\$	3,500.00
8	Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer).	500	SqFt	\$ 1.8	ю (\$ 900.00	\$	6.00	\$ 3,000.00	\$	2.25	\$	1,125.00	\$	7.00	\$	3,500.00
9	Supply and install non-skid epoxy floor coating 1/8", with a minimum slip coeficient of 0.70.	500	SqFt	\$ 2.7	o s	1,350.00	\$	3.00	\$ 1,500.00	\$	3.25	\$	1,625.00	\$	3.75	\$	1,875.00
10	Supply and install non-skid epoxy floor coating 1/4", with a minimum slip coeficient of 0.60.	500	SqFt	\$ 3.7	0 \$	\$ 1,850.00	\$	4.00	\$ 2,000.00	\$	-	\$	-	\$	5.00	\$	2,500.00
	Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal of removed material and debris	500	SqFt	\$ 6.7	0 5	3,350.00	\$	7.00	\$ 3,500.00	\$	4.00	\$	2,000.00	\$	4.70	\$	2,350.00
12	Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include disposal of removed material and debris	3000	SqFt	\$ 6.7	0 \$	\$ 20,100.00	\$	7.00	\$ 21,000.00	\$	6.00	\$	18,000.00	\$	5.90	\$	17,700.00

ITEM	ITEM DESCRIPTION	EST QTY	UOM	С	urtis	Ren	nodeling		Pro F	loors F	lus	Mi	ke M	oulto	n Const.	Н	amme	erhe	ad Const
	Items 13 through 23 will be for projects from 501 to 1,500 Sq. Ft			Unit	Cost	Tota	I Item Cost	Un	it Cost	Total Ite	m Cost	Unit	Cost	Total	Item Cost	Uni	t Cost	Tota	I Item Cost
	Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer).	1500	SqFt	\$	4.96	\$	7,440.00	\$	3.00	\$ 4	,500.00	\$	2.25	\$	3,375.00	\$	7.80	\$	11,700.00
	Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer).	1500	SqFt	\$	4.96	\$	7,440.00	\$	3.00	\$ 4	,500.00	\$	2.25	\$	3,375.00	\$	8.80	\$	13,200.00
	Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer).	1500	SqFt	\$	9.80	\$	14,700.00	\$	10.00	\$ 15	,000.00	\$ 1	0.00	\$	15,000.00	\$	8.90	\$	13,350.00
16	Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer).	3000	SqFt	\$	9.80	\$	29,400.00	\$	10.00	\$ 30	,000.00	\$ 1	0.00	\$	30,000.00	\$	8.90	\$	26,700.00
17	Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer).	9000	SqFt	\$	9.80	\$	88,200.00	\$	9.00	\$ 81	,000.00	\$ 1	0.00	\$	90,000.00	\$	6.90	\$	62,100.00
18	Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer).	9000	SqFt	\$	9.80	\$	88,200.00	\$	10.00	\$ 90	,000.00	\$ 1	0.00	\$	90,000.00	\$	7.90	\$	71,100.00
19	Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer). Does not include repair/replacement of damaged wood floor.	1500	SqFt	\$	9.80	\$	14,700.00	\$	10.00	\$ 15	,000.00	\$ 1	0.00	\$	15,000.00	\$	6.90	\$	10,350.00
20	Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer).	1500	SqFt	\$	5.80	\$	8,700.00	\$	5.00	\$ 7	,500.00	\$	2.25	\$	3,375.00	\$	6.90	\$	10,350.00
21	Supply and install non-skid epoxy floor coating with a minimum slip coeficient of 0.8.	1500	SqFt	\$	2.90	\$	4,350.00	\$	3.00	\$ 4	,500.00	\$	3.00	\$	4,500.00	\$	3.60	\$	5,400.00
22	Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal of removed material and debris	4500	SqFt	\$	6.90	\$	31,050.00	\$	7.00	\$ 31	,500.00	\$	6.50	\$	29,250.00	\$	4.60	\$	20,700.00
23	Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include disposal of removed material and debris	3000	SqFt	\$	6.90	\$	20,700.00	\$	7.00	\$ 21	,000.00	\$	6.50	\$	19,500.00	\$	5.80	\$	17,400.00

	ITEM DESCRIPTION	EST QTY	шом	Cu	rtis R	emo	odeling	Pro	o Floo	rs Pl	us	Mil	ke Mo	ulto	on Const.	На	mme	rhea	d Const
ITEM	ITEM DESCRIPTION	ESTUIT	UOM	Carro	0633142 (875)				All and the second	Spirite S		PENNYS	10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	lan.	1 III STATATATERA	56H(3)	CONTRACT.	25,000,000	
	Items 24 through 34 will be for projects from 1,501 to 3,500 Sq. Ft			Uni	t Cost	Tota	al Item Cost	Uni	it Cost	Total	Item Cost	Uni	t Cost	Tot	al Item Cost	Š	it Cost	Tot	al Item Cost
24	Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to			T															
	include: removal of damaged existing epoxy floor, substrate preparation, and two					l		1											
	separate floodcoats (clearcoat/sealer).	3500	SqFt	\$	4.96	\$	17,360.00	\$	3.00	\$	10,500.00	\$	2.25	\$	7,875.00	\$	7.75	\$	27,125.00
25	Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to							1											
1	include: removal of damaged existing epoxy floor, substrate preparation, and two		-	١.										l					
	separate floodcoats (clearcoat/sealer).	3500	SqFt	\$	4.96	\$	17,360.00	\$	3.00	\$	10,500.00	\$	2.25	\$	7,875.00	\$	8.85	\$	30,975.00
26	Install 1/4" thick new epoxy flooring replacing existing quarry tile to include:					l		l				1						ĺ	
1	removal of existing tile, substrate preparation, and two separate floodcoats			1.		١.		١.		١.		١.		١.		١.		١.	
	(clearcoat/sealer).	7000	SqFt	\$	8.75	\$	61,250.00	\$	10.00	\$	70,000.00	\$	10.00	\$	70,000.00	\$	8.80	\$	61,600.00
27	Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include:																	l	
	removal of existing tile, substrate preparation, and two separate floodcoats	0500	0.54	٦		۱.	04.405.00		40.00	١.	05 000 00		40.00	١.	05 000 00			١.	
	(clearcoat/sealer).	3500	SqFt	\$	9.75	3	34,125.00	13	10.00	\$	35,000.00	\$	10.00	\$	35,000.00	\$	8.80	\$	30,800.00
28	Install 1/4" thick new epoxy flooring over existing concrete to include: substrate							l										1	
1	preparation, and two separate floodcoats (clearcoat/sealer).	24500	SaE+	s	9.70		213,150.00	٦.	9 00		106 000 00	•	0.00	١.	220 500 00	•	6 00	٦	166 600 00
29	Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal	24500	SYFI	╇	0.70	*	213,130.00	1-3	0.00	1 2	190,000.00	13	9.00	1-2	220,500.00	 →	0.00	1	100,000.00
29										ĺ				l					
1	of existing vinyl tile, substrate and two separate floodcoats (clearcoat/sealer).	3500	SaFt	s	8.70	\$	30,450.00	9	9.00	٠,	31,500.00	\$	9.00	١,	31,500.00	•	7.80		27,300.00
30	Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate	- 5500	loqi t	+	0.70	۳	00,400.00	۳	3.00	۳	31,000.00	۳	3.00	۳-	31,300.00	۳	7.00	۳	21,500.00
] 50	preparation, and two separate floodcoats (clearcoat/sealer). Does not include		l	1												l		l	
1	repair/replacement of damaged wood floor.	3500	SaFt	l s	8.75	s	30,625.00	s	9.00	s	31,500.00	s	9.00	s	31,500.00	\$	6.80	s	23,800.00
31	Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate	-	1	† <u> </u>		Ť		Ť			,	Ť		<u> </u>		Ť		Ť	
	preparation, and two separate floodcoats (clearcoat/sealer).		İ			ŀ								l					
1	[3500	SqFt	\$	2.97	\$	10,395.00	\$	5.00	\$	17,500.00	\$	9.00	\$	31,500.00	\$	6.80	\$	23,800.00
32	Supply and install non-skid epoxy floor coating with a minimum slip coeficient of			Т												_			
1	0.8.		1	1		1		1								l			
		3500	SqFt	\$	2.78	\$	9,730.00	\$	3.00	\$	10,500.00	\$	2.00	\$	7,000.00	\$	3.50	\$	12,250.00
33	Remove mortar/mudbed and restore original floor elevation with the epoxy flooring			Т										Г					
	manufacturer's approved sub floor product, 2" thick, or less. Price shall include	l	l	1				ı										1	
	disposal of removed material and debris	10000	SqFt	\$	6.85	\$	68,500.00	\$	7.00	\$	70,000.00	\$	2.60	\$	26,000.00	\$	4.50	\$	45,000.00
34	Remove mortar/mudbed and restore original floor elevation with the epoxy flooring																		
	manufacturer's approved sub floor product, greater than 2" thick. Price shall include																		
	disposal of removed material and debris	3500	SqFt	\$	6.85	\$	23,975.00	\$	7.00	\$	24,500.00	\$	6.50	\$	22,750.00	\$	5.70	\$	19,950.00

				Сш	rtis Re	emc	odeling	Pro	Floor	rs Plus	Mil	ke Mo	ulton Const.	Н	ammei	hea	d Const
ITEM	ITEM DESCRIPTION	EST QTY	UOM	Ŭ.			, dom 19		, ioo							1100	001100
	Items 35 through 45 will be for projects greater than 3500 Sq. Ft.			Unit	Cost	Tota	al Item Cost	Unit	t Cost	Total Item Cost	Uni	t Cost	Total Item Cost	Un	it Cost	Tota	I Item Cost
	Repair of existing 1/8" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer).	3500	SqFt	\$	4.87	\$	17,045.00	\$	2.00	\$ 7,000.00	\$	6.50	\$ 22,750.00	\$	7.70	\$	26,950.00
	Repair of existing 1/4" epoxy flooring to match thickness of existing epoxy floor, to include: removal of damaged existing epoxy floor, substrate preparation, and two separate floodcoats (clearcoat/sealer).	3500	SqFt	\$	4.87	\$	17,045.00	\$	2.00	\$ 7,000.00	\$	2.25	\$ 7,875.00	\$	8.70	\$	30,450.00
	Install 1/4" thick new epoxy flooring replacing existing quarry tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer).	3500	SqFt	\$	8.50	\$	29,750.00	\$	9.00	\$ 31,500.00	\$	2.25	\$ 7,875.00	\$	8.70	\$	30,450.00
38	Install 1/4" thick new epoxy flooring replacing existing ceramic tile to include: removal of existing tile, substrate preparation, and two separate floodcoats (clearcoat/sealer).	3500	SqFt	\$	8.50	\$	29,750.00	\$	9.00	\$ 31,500.00	\$	8.50	\$ 29,750.00	\$	8.70	\$	30,450.00
	Install 1/4" thick new epoxy flooring over existing concrete to include: substrate preparation, and two separate floodcoats (clearcoat/sealer).	14000	SqFt	\$	8.35	\$	116,900.00	\$	8.00	\$ 112,000.00	\$	8.50	\$ 119,000.00	\$	6.70	\$	93,800.00
	Install 1/4" thick new epoxy flooring replacing existing vinyl tile to include: removal of existing vinyl tile, substrate preparation, and two separate floodcoats (clearcoat/sealer).	3500	SqFt	\$	8.50	\$	29,750.00	\$	8.65	\$ 30,275.00	\$	8.50	\$ 29,750.00	\$	7.70	\$	26,950.00
	Install 1/4" thick new epoxy flooring over existing wood floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer). Does not include repair/replacement of damaged wood floor.	3500	SqFt	\$	8.50	\$	29,750.00	\$	8.00	\$ 28,000.00	\$	8.50	\$ 29,750.00	\$	6.70	\$	23,450.00
42	Install 1/4" thick new epoxy flooring over existing epoxy floor to include: substrate preparation, and two separate floodcoats (clearcoat/sealer).	3500	SqFt	\$	1.87	\$	6,545.00	\$	3.00	\$ 10,500.00	\$	2.25	\$ 7,875.00	\$	6.70	\$	23,450.00
43	Supply and install non-skid epoxy floor coating with a minimum slip coeficient of 0.8.	3500	SqFt	\$	2.90	\$	10,150.00	\$	3.00	\$ 10,500.00	\$	3.00	\$ 10,500.00	\$	3.30	\$	11,550.00
44	Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, 2" thick, or less. Price shall include disposal of removed material and debris	3500	SqFt	\$	6.87	\$	24,045.00	\$	7.00	\$ 24,500.00	\$	6.50	\$ 22,750.00	\$	4.40	\$	15,400.00
45	Remove mortar/mudbed and restore original floor elevation with the epoxy flooring manufacturer's approved sub floor product, greater than 2" thick. Price shall include disposal of removed material and debris	3500	SqFt	\$	6.87	\$	24,045.00	\$	7.00	\$ 24,500.00	\$	6.50	\$ 22,750.00	\$	5.60	\$	19,600.00

ITEM	ITEM DESCRIPTION	EST QTY	UOM	Curtis F	Rem	odeling	Pro Fl	oors	Plus	Mike Mo	ulton Const.	Hamme	head Const
	Ancillary Services			Unit Cos	То	tal Item Cost	Unit Co	st T	otal Item Cost	Unit Cost	Total Item Cost	Unit Cost	Total Item Cost
46	Slope to drain maximum thickness 2"	1000	SaFt	\$ 5.80		5,800.00	¢ 5	00 \$	5,000.00	\$ 6.00	\$ 6,000,00	\$ 45.00	\$ 45,000.00
47	Slope to drain thickness greater than 2"		SqFt	\$ 5.80				00 \$		\$ 6.00		\$ 55.00	
48	Supply and install 4" integral cove base.	10000		\$ 8.50		· · · · · · · · · · · · · · · · · · ·		00 \$					
49	Supply and install 6" integral cove base.		LinFt	\$ 8.50	T			55 \$		\$ 8.25	\$ 41,250.00	\$ 10.00	\$ 50,000.00
50	Replace 4" round floor drain in any type surface in which the existing drain is fully or partially exposed.	20	EA	\$ 320.00	\$	6,400.00	\$ 420.	00 \$	8,400.00	\$400.00	\$ 8,000.00	\$ 65.00	\$ 1,300.00
51	Replace 6" round floor drain in any type surface in which the existing drain is fully or partially exposed.	20	EA	\$ 340.00	\$	6,800.00	\$ 480.	00 \$	9,600.00	\$450.00	\$ 9,000.00	\$ 75.00	\$ 1,500.00
52	Replace 4" round floor drain in any type surface in which the existing drain is unexposed.	10	EA	\$ 375.00	\$	3,750.00	\$ 690.	00 \$	6,900.00	\$650.00	\$ 6,500.00	\$ 90.00	\$ 900.00
53	Replace 6" round floor drain in any type surface in which the existing drain is unexposed.	100	EA	\$ 475.00	\$	47,500.00	\$ 780.	00 \$	78,000.00	\$750.00	\$ 75,000.00	\$105.00	\$ 10,500.00
54	Install Moisture Barrier	38000	SqFt	\$ 2.46	3 \$	93,480.00	\$ 2.	50 \$	95,000.00	\$ 2.00	\$ 76,000.00	\$ 3.00	\$ 114,000.00
55	Install stairs treads.	15000	SqFt	\$ 13.8	7 \$	208,050.00	\$ 15.	00 \$	3 225,000.00	\$ 14.00	\$ 210,000.00	\$ 70.00	\$ 1,050,000.00
56	Install stairs risers.		LinFt	\$ 13.86	s \$	700							\$ 1,035,000.00

ITEM	ITEM DESCRIPTION	EST QTY	UOM				Pro Floo	rs Plus	oulton Const.	Hamme	rhead Const		
	Ancillary Services			Unit Co	st T	rotal Item Co	st	Unit Cost	Total Item Cost	Unit Cost	Total Item Cost	Unit Cost	Total Item Cost
57	Install stairs stringers.				T								
		1000	LinFt	\$ 13.8	36	\$ 13,860.	00	\$ 15.00	\$ 15,000.00	\$ 14.00	\$ 14,000.00	\$ 45.00	\$ 45,000.00
58	Remove existing metal stair nosings & prepare stairs to receive new epoxy nosings &												
	coatings.	25000	LinFt	\$ 19.2	21	\$ 480,250.	00	\$ 20.00	\$ 500,000.00	\$ 16.00	\$ 400,000.00	\$ 5.00	\$ 125,000.00
59	Install stairs nosings.												
		10000	LinFt	\$ 4.3	32	\$ 43,200.	00	\$ 5.00	\$ 50,000.00	\$ 4.50	\$ 45,000.00	\$ 10.00	\$ 100,000.00
60	Install stairs landings.												
		2500	SqFt	\$ 9.2	27	\$ 23,175.	00	\$ 10.00	\$ 25,000.00	\$ 10.00	\$ 25,000.00	\$ 40.00	\$ 100,000.00
61	Additional mobilizations / setups to complete a project that requires work to be performed in excess of three phases.		Per Addl						1				
	•		Set-Up	\$ -		\$	-	\$ -	\$ -	\$ -	\$ -	\$500.00	\$ 15,000.00
	Total (Items 1-61):This total is used for Bid Award Purposes Only and is not an actual estimate of expenditures.				١								
	Discounts Offered:			ļ		\$ 2,565,790.	00		\$ 2,633,425.00		\$ 2,449,000.00	 -	\$ 3,983,075.00
	Discounts Officied.												
	Total Including Discounts (Items 1-61): This total is used for Bid Award			├			0%		3%		3%	-	0%
	purposes only and is not an actual estimate of expenditures			s		2,565,790.0	20		2,554,422.25		2,375,530.00		3,983,075.00
62	Qualification of Bidder : Years in Business			1		2,505,790.		Φ	2,004,422.20	1 4	2,373,330.00	Ψ	3,903,073.00
				32 yrs,	1 m	onth		See Lette	г	26 years		4 yrs, 7 m	onths
	Qualification of Bidder: References												
				Include	d			Included		Included		Included	
	Signed Bid & Amendment #1?			Yes				Yes		Yes		Yes	

Notes: * Mike Moulton Construction did not bid on Item #10

BIDDERS WHO BID "NO BID": None.

NON-RESPONSIVE BIDDERS: Mike Moulton Construction - Incomplete bid proposal. Did not respond on Item #10.

RECOMMENDATION FOR AWARD:

Committee: Bill Smith, Director Facilities Planning

Steve Bolton, Pgm Director, Maintenance

Tom Cox, Specialist Facilities Planning

Rick Kilpatrick, Foreman, Maintenance

Committee recommends award to the lowest responsible and responsive bidder Pro Floors Plus in the amount of as needed per the itemized pricing list above.

FUNDING

Fund Funct

Object Ctr

Project

District Wide As Needed per Itemized Price List

POSTED: 9/1/09 9:30AM CT

[&]quot;Failure to file a protest within the time prescribed in Florida Statutes 120.57, Florida Statutes, shall constitute a waiver of proceedings under Chapter 120, Florida Statutes."